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c....*
subroutine makebc(x,y,ie,nop,b,c,area,aa03,aal2)
implicit none

C
real*8 x,y

dimension x(NoNode),y(NoNode)

integer nop
dimension nop(3,NoElem)
dimension b(3),c(3)

integer 11,i2,i3
real*8 b,c,area,aa03,aal2,a2
real*8 x1,x2,x3,y1,y2,y3

Integer ie
11 = nop(l,ie)

12 = nop(2,ie)
I3 = nop(3,ie)



Cc --- coordinate ----
x1 = x(i1)
X2 = X(i2)
x3 = X(i3)
yl=y(i1)
y2 =y(i2)
y3 =y(i3)

c --- area of the triangle element ---
a2 = x1*(y2 - y3) + x2*(y3 - y1) + x3*(y1 - y2)
area =a2 * 0.5d0
aa03 = area / 3d0
aal2 = area/ 12d0
a2=1d0/ a2

c --- coefficient of the shape function ---
b(1) = (y2 -y3) *a2
b(2) = (y3 -yl) *a2
b(3) = (yl -y2) * a2
c(1l) = (x3-x2) *a2
c(2) = (x1 - x3) *a2
c(3) = (x2-x1) *a2

return
end
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